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BCMbm1DS101B
B.Com. Semester - 1 (CBCS) Examination
Nov./Dec. -2018 (New Course)
BUSIMESS MATHEMATIC - 1(DISC. SPE. ELE -1)

Time: 2:30 Hours Marks: 70
Instructions:
1. All questions are compulsory.
2. Figuresto the right indicate marks.
usl-1(A) %l A= {afa® - 1<10, acz}, (10)
B = {b|b-1<2, beN},
C = {c/lc<lceN} 8lat Al ustl 3,
A x (BMC) = (AxB) m (AxC)
sl B)  o{lQell carvanll Gelgel A ctul (10)
(1) Weld oL
(2) Hlet 212
(3) Y80l
(4) Be o
(5) ULl
welell
ysi-l (A) %A, B, C slesurl 2oL ol Slat, Al A 20 3, (10)
A~BUC) = (AmB) u (ANC)
usl1(B) WU={1,2,3,4,56},A={23,6]B={3,5,6) 10)
AUAA 82 ¥, () (AUBY = A'~B
(i) (ANB)' = A'"UB’
Ysi-2 (A) ) 110 P3 = 6s2) P5 cl ‘0’ Aarell. Egg
(ii) 3n P3 = 2en) P cll n Aoell.
Ysi2(B) %l “ZENITH” 2lc€otl ol ueloll olsaell sl Baddl yrd slscadi wd d axi (10
“ZENITH” 216€0tl 51 dectiHl 8312
welell
Ysi-2 (A) @) ol 2Cs+ 2 (2Ca) + 12C3 = “C, 8l2L, cdl x Aol Egg
(i)  2Cs+ 2 =2Cs cll x Aorcll
Ysi2 (B) 7 8ls2Al wal 3 slslullel uyeniell 4 Qenelliel As AR clotiac]l B, %l & uB@Qn (10)
(i) & wls Al (ii) vl el As ©lsl Aol o glat Al AbUA dedl A eleticll atstar?
Y83 (A) 6 B Aadl (101 Egig
(i) (ST" + %)“ oll @actzeuHl Uiy ue adl
un3®)  (Z+ %)" oll [Qzct20uHi HeatH UE 2llel. (08)
welell
Ysl-3 (A) (i) (22 + 1) o Qactze Al ngg
(ii) 5+ 1P -5 - 1) oll BHc Anal.
us3(B) (207 — =) etl QiR ot ol ugapRts Aadl (08)
ysid (A) et wal et uHmal ©7)
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usi-4 (B)

UH-4

Que-1(A)

Que-1 (B)

Que-1 (A)

Que-1(B)

Que-2 (A)

Que-2 (B)

Que-2 (A)

Que-2 (B)

Que-3 (A)

Que-3 (B)

Que-3 (A)

Que-3 (B)

Que-4 (A)
Que-4 (B)

Que-4

oj2atoll Ilciell Gualol 531 x =20 8lat, @ yoll Buct el

x | 14 | 18 | 22 | 26 | 30 | 34
v | 30 [ 35 | 42 | 51 | 62 | 75

Al

clalleell flcdell Guallol 53l x = § slat @l yoll (1 20l

X 4 5 7 10 11 13
y | 48 | 100 | 294 | 900 | 1210 | 2028

ENGLISH VERSION

If A={a/a’-1<10, acz},
B ={b|b-1|<2,beN},
C = {c/|c|<1ceN} verify that
A x (BNC) = (AxB) m (AxC)
Give the definition with example.
(1) Infinite Set
(2) Equal Set
(3) Complementary Set
(4) Intersection Set
(5) Disjoint set
OR
If A, B, C are any three sets prove that
AN(BUC) = (AnB) U (AnC)
fU={1,2,3,4,56},A={2,3,6} B={3,5, 6} Prove that.
(i) (AUB) = A'mB’
(ii) (i1) (AnB)" = A"UB'
(1) 11, P3 = 642 P find n.
(ll) 3n P:= 2(n+l) P3 find n.
The letters of the word “ZENITH’’ are written in all possible orders. If all these words are
written out as in a dictionary what is the rank of the word “ZENITH”.
OR
(1) If Cs+ 2 (**Cs) + '*C3 = "Cx then find x.
(i1) If2°C3, + 2 = **Cy4g then find x.
From a group of 7 boys and 3 girls a committee of four students is to be formed.
Find the number of ways in which it can be formed so as to include.
(1) exactly 2 girls (ii) at least one girl.
(iii) Find value of (101)°
(iv)  Obtain the fifth terms in the expansion of (%x + i)m
Obtain the middle terms in the expansion of (2% + %)9
OR
(i) Expand (Zx + %)4
(ii) Find the value of (v'5+ 1 —(/5— 1)

Obtain the co — efficient of x % in the expansion of (2:::2 - ;—x 14

Explain Interpolation and Extrapolation.
Using Newton’s Method estimate y when x=20.
X | 1418 [22 |26 30 34
y | 30 ] 35 ] 42 | 51 [62]75

OR
Estimate vy when x=8, using Lagrange’s Method.
X1 4 5 7 [ 10| 11 13
y | 48 [100]294 ] 900 [ 1210 | 2028
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(08)

(15)

(10)

(10)

(10)

(10)

(05)
(05)
(10)

(05)
(05)
(10)

(03)
(04)

(08)
(03)
(04)
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(07)
(08)

(15)



